SINDHI HIGH SCHOOL
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SUBJECT:- SCIENCE
Class - IX SET -1 Time 3 hours

DATE:- Marks: 90
No. of. Sides:- 05

1. The question paper comprises of two Sections, A and B. You are to attempt
both the sections.

2. All questions are compulsory

3. All questions of Section-A and all questions of Section-B are to be attempted
separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence

5. Question numbers 4 to S in Sections-A are two marks questions. These are to
be answered in about 30 words each.

6. Question numbers 6 to 16 in Section-A are three marks questions. These are to
be answered in about 50 words each

7. Question numbers 17 to 21 in Section-A are five marks questions. These are to
be answered in about 70 words each.

8. Question numbers 22 to 30 in Section-B are multiple choice questions based
on practical skills. Each question is a one mark question. You are to select one
most appropriate response out of the four provided to you.

9. Question numbers 31 to 33 in Section-B are questions based on practical skills
are two marks questions.

10. Question numbers 34 to 36 are questions based on OTBA

Section A
1. How does kinetic energy of a body vary with its velocity ?

2. Identify A and
name the disease caused by it.

3. How can you say that prokaryotes are primitive than eukaryotes ?

4. An element X has an atomic number 11,
(a) Write its electronic configuration (b) Its valency,
(c) The formula of its oxide.

5. Distinguish between transverse wave and longitudinal wave.
6. List the causes of diseases and Explain the principle behind working of
antibiotics

7 A box has dimensions 5 m x 3 m x 1m. At which surface will it exert
maximum pressure on ground ? If mass of the box is 100 kg and g =10 ms-2,
Find the maximum pressure exerted by the box.
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8. A mass of 2kg is to be raised to a height of 10 m. How much energy is
required ? Show in a graph, how this energy increases the velocity as it is
allowed to fall (take g=10m/s?)

9. Define the term power. A boy of mass 45 kg climbs up 20 steps in 20
seconds. If each step is 25 cm high, calculate the power used in climbing.

10. What is an echo? How is it caused? Why do we not hear echo in a small
room?

11.(a) What is the principle behind the working of sound boards? Explain.
(b) How does the speed of sound change with (a) medium (b) temperature ?

12 Calculate - (a) Number of moles in 1.7 g of ammonia gas.(N-14u,H-1U)
(b)Molar mass of Calcium phosphate.(Ca-40u,P-31u,0-16U)

13.(a) Write molecular formula of (i) lead IV oxide , (ii) Iron III sulphate
(b) Name the following compounds
() H2COs, (i) Mg(HCO3)2 , (iii) NH4CI , (iv) AgNO3

14. With the help of neat illustration, explain JJ thomson’s model of an atom.

15. Give one example for the following characteristic features

(a) Single celled fungi

(b)Notochord found in any stage of life cycle of the organism

(c) Soft body with open circulatory system and kidney like organ for
excretion.

(d) Cold blooded , three chambered heart with scales on the body and
lungs for respiration

(e) Streamlined, bilaterally symmetrical cold blooded organism with two
chambered heart

(f) Bilaterally symmetrical, eucoelomate, metamerically segmented
organisms

16. Asha and Prema -Students of class 9 conducted a survey on diseases for
over 100 families in their locality and submitted a report to their teacher .
One such reading is given below. Study the data and answer the questions
given

No. of people who suffered from acute disease for past three months...... 50
No of people who suffered from a chronic infection for past three years...... 8
(a) What type of acute diseases would be present ?
(b) What do you infer from the number of patients suffering from acute
diseases?
(c) What values of the students are shown?

17. Derive an expression for Kinetic energy of a body.

18. Explain with a neat and labeled diagram how do you demonstrate that
sound requires a material medium for its propagation?
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19.(a) What are polyatomic ion? Give two examples of the same.
(b) Draw the atomic structure of i) S1Pjs ii) 28Nai1
(
(

c) Mention the number of protons, neutrons and electrons

20.(a)Define the following terms. Haemocoel, bilateral symmetry
(b)Mention the conventions followed while writing scientific names.
Write the scientific names of- Tiger, Potato

(c) Mention any four significant characteristic features of vertebrates

21.(a)Being infected with an infectious microbe does not necessarily mean
developing noticeable symptoms of the disease.“ Comment
(b) Name the pathogen that causes the following diseases- Typhoid,
Influenza, Elephantiasis, Kalaazar

(c) What are the precautions that can be taken to reduce incidence of
infectious diseases?
Section- B
22. The density of tap water is less than that of sea water. If an object is
immersed completely in both one by one its loss in weight will be
(a) more in sea water (b) Less in sea water

(c) Equal in two cases (d) Zero in sea water but not so in tap water.

23. While doing experiment on verifying the laws of reflection of sound, four
students measured the angles I and r as shown in the diagram below. The

correct measurement of the angle of incidence and angle of reflection, has
been done by student.

24. Identify the precipitate formed when sodium sulphate and barium
chloride reacts.

(a)White ppt of NaCl ,

(b)Yellow ppt of BaSO4
(c)White ppt of BaSO4

(d) Grey ppt of NaCl

25. Identify the correct diagram for the correct measurement of the level of
water in a measuring cylinder.

<€
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26. You are provided with two strings one is thicker and other is thinner. When
they are vibrated simultaneously.



(a) Thick String will vibrate Slower and thinner String vibrate faster.
(b) Thick string will vibrate faster than the thin string.

(c) Both will vibrate with equal frequency
(d) Nothing can be predicted.

27. After observing the specimen of a plant four students named labelled the

diagram of the specimen as follows. ( '¢~'
Tick the right option. | V
(a) (i) foot, (ii) capsule , (iii) leaf
(b) (i) foot, (ii) seta, (iii) capsule
(c) (i) capsule (ii) rhizoids , (iii) foot, ﬁ
(d) (i)foot, (ii)capsule, (iii) seta ‘:: g_
l

28. Identify the dicot plant parts from the given diagrams

@ 1,23 (b) 2, 4 (©1,4,2 (1,4

29. Given below are the different stages of life cycle of a mosquito. The correct
sequence of their life cycle is ..

(@) 1,2, 3, 4 (b) 1,4, 3,2 (c2,3,4,1 (d 3,4,1,2

30. A Student identifies the given specimen as a pteridophyte. Which of the
following characters suits the given example.
(a) Seedless nonvascular plants
(b) Seedless vascular plants
(c)Amphibians of plant kingdom
(d) Plants without proper roots, stem , leaf structure.

31. State the Principle that tells us about the decrease in weight of a body when
immersed in a liquid
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32. While finding the density of a body a student recorded the following
observations.



(a) Mass of the body =62.4g
(b) (i) Reading of water level in the measuring jar without body = 16.4ml
(ii) Reading of water level in the measuring jar with body = 24.4ml
Find the density of the body

33. Write the adaptive features of pigeon

OTBA
34. Differentiate between Draught & Famine (2)
35. Write the advantages & disadvantages of river linking (3)

36. What are the effects of drought on society? List the mitigation strategies for
Draught. (5)
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SINDHI HIGH SCHOOL
PRE — BOARD EXAMINATION SA - 1I (2015-16)
SUBJECT:- SCIENCE
Class - IX SET - 11 Time 3 hours

DATE:- Marks: 90
No. of. Sides:- 05
General Instructions

1. The question paper comprises of two Sections, A and B. You are to attempt both
the sections.

2. All questions are compulsory

3. All questions of Section-A and all questions of Section-B are to be attempted
separately.

4. Question numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence

S. Question numbers 4 to 5 in Sections-A are two marks questions. These are to be
answered in about 30 words each.

6. Question numbers 6 to 16 in Section-A are three marks questions. These are to
be answered in about 50 words each

7. Question numbers 17 to 21 in Section-A are five marks questions. These are to
be answered in about 70 words each.

8. Question numbers 22 to 30 in Section-B are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one most
appropriate response out of the four provided to you.

9. Question numbers 31 to 33 in Section-B are questions based on practical skills
are two marks questions.

10. Question numbers 34 to 36 are questions based on OTBA



Section A
1. Define the SI unit of Pressure

2. Name any two countries known for its biodiversity.
3. Name the pathogens that cause typhoid and malaria.

4. In a chemical reaction 4.0 g of sodium carbonate reacted with 10 g of
hydrochloric acid . The product was a mixture of 2.5 g of carbon dioxide and
11.5 g of sodium chloride .Prove that the above given data is in agreement with
the law of conservation of mass.

5. What is the work to be done to increase the velocity of a car from 30km/h to
40 km/h if the mass of the car is 1500kg ?

6. (a) Mention the pathogen which causes Japanese Encephalitis. Name the organ
it affects.
(b)How is this disease different from polio? Give reasons to support your
answer.

SET -II PAGE - 2

7. State law of conservation of energy. Show mathematically that a body of mass
‘m’ falling freely from height ‘h’ remains conserved at every point on its
downward motion.

8.(a) Name the instrument used to determine the purity of a sample of milk.
(b) The volume of a 500g sealed packet of milk is 350 cm3.Will the packet sinks
or float in water if the density of water is 1g/cm3?

9. What happens to the kinetic energy of particle of mass ‘m’ moving at a velocity
Y’ if its mass and velocity are doubled?

10.(a) Mention the audibility range of human ear.
(b) Mention any two applications of ultrasonic waves.

11. Define Reverberation. Mention any two methods to reduce reverberation in the
concert halls.

12. An element X has 17 protons and 18 neutrons in its nucleus.
(a) find its atomic no. and atomic mass.
(b) write its electronic configuration.
(c) identify the element and write its symbol.

13. What were the limitations of the Rutherford ' s atomic model ? How could
Bohr's atomic model overcome the drawbacks of Rutherford ' s model of an
atom?



14. The average atomic mass of a sample of an element X is found to be 16.2.
Calculate the percentage of its isotopes!6Xg and 18Xs in the given sample.

15. Classify the given organisms and write any two important characteristics of
each phylum / class they belong -
Tapeworm, Snake, Earthworm, Sponges, Frog, Balanoglossus

16(a)” Bryophytes are called the amphibians of the plant kingdom”. Justify
(b) Identify the organism and answer the given questions.

(i) Name the phylum it belongs to and its body cavity.
(ii)Name the cells present on its tentacles and explain
how it helps the organism.

17. Sangeeta was not able to attend school for a week while her mother could not
go to office for six months due to different ailments.
(a) Which category of diseases are they suffering from?
(b) With suitable examples differentiate these diseases.
(c) List the various causes of diseases.
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18.(a) List the parameters which characterize a sound wave.
(b) Given below are the graphical representations of two sound waves. Identify
the sound which has
(i) higher pitch (ii) higher amplitude. Justify your answer.

- X !
“Time T

Time T~
VAR

it ame) -

(c) A sound wave has a frequency of 2 KHz and wavelength of 35cm. Calculate
its velocity.

19. (a)Define Power.
(b) Derive the relationship between commercial unit and SI of electrical
energy.
(c) In a house 5 bulbs of 25W each are used for 6hours a day.
Calculate the units of electrical energy consumed in a month of 30days.
Also, find the total expenditure if 1 unit costs Rs 3.5.



20. (i) Calculate the molecular mass of the following compounds :
(a) Na2COs3 (b) CHsCOOH
Na=23,H=1,C=12,0=16)
(ii) Calculate :
(a) number of particles represented by 0.5 moles of an element .
(b)number of moles in 360g of water.

21. (a) To which division of plantae do Algae belong? Give two examples and write
one characteristic feature of the division.
(b) Name the following
(i) Bony fishes with gills covered by operculum -
(ii) Plant group with inconspicuous and hidden reproductive organs —
(iii) Spiny exoskeleton with water vascular system -
(iv) Heterotrophs with cell wall made of chitin -
(v) Chitinous exoskeleton with jointed appendages —
(vi) Hair covered body with external ears —

Section- B
22. While verifying the laws of reflection of sound, Ravi measured the angle
between the incident sound wave and the reflected sound wave to be 1200.The
angle of incidence is
(a) 1000 (b) 600 (c) 1200 (d) 500
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23. Rita measured the areas of three faces Fi, F2 and F3 of a brick to be
200 cm?2,120 cm? and 60 cm?2. The weight of the brick is 10 N. How should she
place the brick on its face so that it goes into sand up to a maximum depth.
(a) By placing it on face F; (b) By placing it on face F»
(c) By placing it on face F3 (d) By placing it on face F; or Fa

24. Mohan was provided a sphere of weight 0.5N and four measuring cylinders
A,B,C,D each containing 100ml of tap water. He mixed 15g, 50g and 75g of
salt respectively in cylinders B,C and D . He then measured the weight of the
sphere by immersing it it in all the four beakers successively. He would find
that maximum loss in weight occurs in

(a) Measuring Cylinder A (b) Measuring Cylinder C
(c) Measuring Cylinder B (d) Measuring Cylinder D

25. A pulse produced in a slinky travels from one end to the other and back to the
initial position in 12m long slinky in 4.8s. The velocity of the pulse is
(@) 2.5ms"! (b) 4 ms-! (c) 55.6ms-! (d) Sms-!

26. When Mili mixed barium chloride solution with sodium sulphate solution. She
observed :
(a) A blue precipitate (b) A blue coloured solution
(c) A white precipitate (d) No change in the mixture.



27. The common name of Periplanta americana is
(a) Butterfly (b) Cockroach (c) Pigeon (d) Earthworm

28. The number of eggs laid by the female Anopheles mosquito
(a) 200-300 (b) 50-100 (c) 10-100 (d) 300-400

29. Help Sharon to identify the correct characteristic features of mushroom
(a) Rhizoids, Stipe, annulus, gills, pileus
(b) Mycelium, stipe, annulus, gills, pileus
(c) Rhizoids, foot , capsule, gills , pileus
(d) Mycelium, foot, annulus, gills, pileus

30. Four students a, b, c, d observed the leaves and seeds of Maize plant and
reported. Which student made the correct observation.
(a) Parallel venation and dicotyledonous
(b) Parallel venation and Monocotyledonous
(c) Reticulate venation and dicotyledonous
(d) Reticulate venation and Monocotyledonous

31. An object is suspended with a string the string gets stretched. When the
object is completely immersed in water the extension of thread decreases,
Explain why it so happens?
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32. Differentiate between pteridophytes and bryophytes.

33. A 200 g solid block of aluminum ( density of Al = 2.7g/cc) is immersed in a
beaker of water. The same is done in another beaker with a 200g of lead
(density of Pb = 11.3 g/cc).

Compare the volume of water displaced by each block.

OTBA
34. Expand the abbreviation (RRR) in respect to water bodies . What is the
objective of this programme. (2)

35. Justify the given statement “ Water bodies are the life lines for all living
things. It becomes our social and moral duty to conserve them”. (3)

36. List the reasons for degradation of water bodies due to human interventions.
What is the essential foundation for reviving and managing of water
resources. Explain the contribution that local bodies can take up in this
regard. (S)

Kkhkkkkk
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SINDHI HIGH SCHOOL BANGALORE
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ENGLISH COMMUNICATIVE

Class-IX

{DEL2)
Date Maximum Marks: 70
Time: 3hrs No of printed sides: 04
Instructions:
The question paper is divided into three sections.
Section A : Reading & OTBA 20 marks
Section B : Writing and Grammar 25 marks
Section C : Literature 25 marks

SECTION A
(Reading & OTBA: 20Marks)

1(A). Read the following passage: l (5 Marks)

Man’s dependence on plants is indispensable. It is this dependence for food, shelter
and clothing that has led him to explore all possible ways to preserve plants from
being lost to the ravages of natural and man- made calamities. While doing so,
scientists hit upon a technique whereby plants can not only be restored from being
lost, but also can be developed into a complete plant from a small plant part. This
technique, called tissue culture, subsequently proved to be a boon, for mankind.
Basically, tissue culture is a technique by which small pieces of different parts of
a plant body are grown on a nutritional media under completely sterile conditions.
These plants divide and gradually develop either into unorganized mass of cells
called callus or after a few cell divisions differentiate to from full- fledged plants.
The concept of tissue culture dates back to 1878 when a German Botanist,
Vochting said that “from a small plant piece, a whole plant can be regenerated”.
Later, other scientists like Haberlandt in'1902, postulated that cultivation of
artificial embryos is possible depending on the nutritional media.

Answer the following questions:
(1) Why has man tried all methods to preserve plants?

(i) What is significant about the scientific technique to save plants?
(i1i) What is the technique by which a new plant is developed from a small plant?
(iv) When was the idea of tissue culture first introduced and by whom?

(v) Pick out the word from the paragraph which means ‘assumed to be true’.

1(B). Read the following passage carefully. (5 marks)
I am what is best described as an arm chair traveler. A paucity of funds means that
I can hardly buy myself a decent travel guide, leave alone a full-fledged travel
itinerary. Yet, like most parched souls in the scorching summer months and
beyond, the dreams of distant hill refuges play a calming effect on fraught nerves.
So, I sit with a worn out and tattered guidebook and surrounded myself with board
sheets of travel supplements brought out by the newspapers. While glancing
longingly at advertisements and frowning at their prices I can come to.the most

I



obvious conclusion, so obvious in fact that I need not even mention it. Though my
editor says that one does not need money to travel and admittedly I find that to be
hugely encouraging.

Others are, thankfully not so unfortunate. And before this piece begins to take the
shape of the a personal grievance at it all, there lies the silver lining in the shape of
the aforementioned advertisements. One might not notice it in a single week but
with the passage of time the mind becomes sharper and one recognizes

that most of the photographs in these advertisements are morphed. How otherwise
would the same hotel from the same angel have ,in one week the image of a lofty
mountain right behind it and on another, a cheerfully shimmering lake, or rolling
plains. It used to baffle me but now no more.

Answer the following questions:
(1) Why does the writer call herself an ‘arm-chair traveler’?
(ii) Why is the writer not able to travel?
(iii) During the scoring summer months what does the writer dream of?
(iv) While glancing at the advertisement in newspaper that does the author
conclude? :
(v) What does the word ‘scorching’ mean?.

2. Based on OTBA THEME-Let’s Welcome, Accept and Respect 10maris

1. Give your suggestions as to how we can integrate North-east with the

rest of India. ) mzh‘ks)
2. In about 80 words, write a speech to be delivered in the morning assembly
on ‘The Rich Culture of the North-east’. (5 marks)

Section B (Writing and Grammar)
3. In recent times, there is a perceived increasing generation gap between
parents and children. Write an article in about 100-120 words. You may take
help from the clues given below. Sign yourself as Amit/Asha . (5 marks)

Disparity in views-lifestyle values-leading to generation gap-youth, late night
parties and philosophy of carefree life-old age-traditional values of respecting
elders being eroded.

4. Complete the following story with a suitable titlc in about 150- 200 words
(10marks) .

“Raj and Sameer were very close companions. They were neighbours, studied

together, completed their graduation and worked together.One fine eyl

5. Complete the following passage by choosing the most appropriate options
from the ones given below: ' (L x6=3Mraks)
ay - a great addiction amongst all. We miss our classes
and lose our household charms but love to watch TV. The cable TV has become
very popular (ii) all Because it provides fun, frolic and
entertainment. Cable TV works (iii) disc antenna and
2 <




transmission (iv)

_from place}r%f“ ,icbélLﬁIe TV operator,
(v)__ . TVkills our time, (vi)

children,

household women and elders generally go on viewing the TV.

(i) (a) has become
(c) had become
(ii) (a) in
(c) among
(i1i) (a) with
(c) on
(1v) (a) was relayed
(c) is relayed
(v) (a) since
(c) for
(vi) (a) some
(c) the

(b) have become
(d) has been becoming

(b) between

(d) with

(b) by

(d) in

(b) has been relayed
(d) had been relayed
(b) yet

(d) but

(b) all

(d) many

0. In the passage given, one word has been omitted in each line. Write the
missing word that comes before and the word that comes after it, against

the correct blank number. Ensure ¢}

underlined.

Advertising is a close companion the
market economy. Yet is an
unpleasant feature modern life.
Sometimes strange but sensational
commercials TV can cost one’s
pocket heavily, cost one’s life too.
They kill the innocence students.
Some advertisements obscene.

1at the word forms your answer is

(', x8=4 marks)
Word After

Before

7. Rearrange the given words or phrases to make meaningful sentences.

(a) my parents /20™ / anniversary / celebrating /today/they/are.

(1x3=3 marks)

(b} broke down/ in front/ Geeti/ the entire class/ heavy pain/ head/ in the

/dueto a/of

(c) associated/ with/ purple/ royalty/ the/ colour/ is

¢

Section —¢ (literature Textbooks & long Reading Text)

8. Read the extract carefully and answer the questions that follow.

Then a soldier.

(1x3=3 marks)

Full of strange oaths and bearded like the pard,
Jealous in honour, sudden and quick in quarrel,

seeking the bubble reputation.
Even in the canon’s mouth.



(a) Explain “ the bubble reputation’.
(b)What are the qualities of a man in this stage?
(¢) Why does the soldier run after his moment of glory?

Or

pectful and earnest as I could.
that I asked was just to

«and then I told her why I had come, as 1es
And 1 told her everything about myself, and how
get acquainted with her and try to get her to like me.

(a) Whe is the speaker?
(b) What diel the speaker tell the listener?
(¢) Pick out the word from the extract that means the same as ‘to

Make known to someoneg’

9. Answer the following in 30 -40 word each. (4x2=8marks)

(i) What did the professor mean by “the intelligent réading”?

(ii) With reference 10 the poem, how can you look after your teeth?
(iii) How do you think the rain quenches the thirst of the fields and
cures ailments of the clouds?

(iv) ‘All the world’s a stage, and all th

Explain.

e men and women merely players”.

10. Answer the following in about 80-100 words. (4 marks)

1 Bramble. You lead a tense life, hiding the truth of your

Imagine you are Bil
profession from Harold, but when he came to know the truth, he was hurt and at

the same time happy. Write your feelings in the form of a diary entry.

OR

way your silver candlesticks to the convict.

You had a deep attachment to them and you know that your sister, Persome is
goin%to be ggtremely upset when she knows the truth in the morning. Yet you

feel aﬁ&afi satisfaction. Make & diary entry expressing your feelings.

You are the Bishop. You’ve given a

11. Discuss Three Men In A Boat as a humorous travelogue.

Or

2. Give a chacter sketch of Jerome.
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General instructions:
1. All questions are compulsory
2. The question paper consists of 31 questions divided inte ﬁve sections A, B
C,D&E..
Section A comprises of 4 questions of 1 mark each
Section B comprises of 6 questions of 2 marks each
Section C comprises of 8 questions of 3 marks each
Section D comprises of 10 questions of 4 marks each
Section E comprises of two questions of 3 markseach and 1 question of
4 marks
from open text theme.
3. There is no overall choice.
4. Use of calculator is not permitted.
| Section A

Question nos 1 to 4 carry one mark each:

1. ABCD is a parallelogram in which A=60° then fmd%—+ D.

2. Diameter of earth is four times (approximately) the diameter of the moon. Find

the ratio of their surface areas.

3. Find the range of the distribution 5, 9, 8, 6, 3, 5, 7, 12, 15

4. Find the median of the following data 24, 17, 13, 24, 26, 20, 26, 30, 8, 21,24
Section B

Question numbers 5-10 carry 2 marks each:

~~
5. In a parallelogram ABCD of the given figure DAB=70° and DBC=50°.

Find ABD D o
5 9
bl &
fr | .
6. AD is one of the medians of A ABC. E is any point on AD. Show that
s}

ar(AABE) = ar(AACE)

pzs C
7 The radius of a circle is 8cm and the length of one of the chords is 12cm. Find

the distance of the chord from the center.
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8. A pit of dimensions 2.5m x 2.5m X 4.5m is dug at-the rate of F 15/cubic meter.
Find the cost of digging the pit. '
9. To know the opinion of the students about the subject statistics a survey of 200
students was conducted out of which 135 students like statistics. What is the
probability that a student chosen
a) like statistics b) dislike statistics ?
10. The following table represents the weight of 50 students in class IX of

)

particular school

weghtinkg] 5055 | sse0 | aoes | 570
No of 8 27 12 3
students

Find the probability of a student having weight less than 60 kg.
Section C

Question numbers 11-18 carry 3 marks each:

11. In the given figure ABCD and PQRC are rectangles and Q is the midpoint of AC.
Then prove that a)DP=PC b)PR=1/2AC D - c

&

A ) e
12. In figure D is the midpoint of AB, P is any point of BC. CQ||PD meets AB in G
A

Show that ar(A BPQ)=1/2 ar( A ABC)
D O

S\

B &= 4

13. If a line is drawn parallel to the base of an isosceﬁas triangle to intersect its
equal sides prove that quadrilateral so formed is cyclic.

14. AB is chord of a circle whose center is O. If P is any point on the minor arc AB.
Prove that A/éB + 2A38 = 360°.

15. Construct a A ABC in which BC=4.5cm, ﬁ:45° and AB— AC = 2.5 cm. Justify it.

16. A solid sphere of radius 3cm is melted and recast into small spherical balls
each of diameter 0.6cm. Find the number of balis so obtained.

17. If the median of the following observations arranged in ascending order is 24

Find x?

) 14, 18, x+2, x+4, 30, 34.
Also find the mean of the data.
18. Draw a histogram to represent the following data.

Harks 1020 20-30 | 30-40 | 40- 5"%{6 50 _éo;z_o__'

No. of students | 15 S s 10
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Section-D

Question numbers 19 to 28 carry four marks each:

19. Prove that the angles subtended by an arc at the center is double the angle
subtended by it at any point onthe remaining part of the circle.
20. Prove that angle bisectors of a parallelogram form a rectang}sl P

2

21. In the figure AP| [BQ| [CR. Prove that ar( & AQC)=ar( A PBR)
&

£
22. Construct a triangle whose perimeter is 10cm and base angles are 60° and 90°.

23. A right angled A ABC with sides 5cm, 12cm, and 13¢m is revolved about the
side 12cm. Find the volume of the solid so obtained.

24. The curved surface area of a cylinder is 264 m? and its volume is 924m’. Find
the diameter and height of the cylinder. '

5. The diameter of a roller 120cm long is 84cm. If it takes 500 complete
revolutions to level a playground,determine the cost of levelling it at the rate
of 30ps/square meter. '

26. A shopkeeper has a conical capacitor of height 24cm and radius 7cm. Then .
find its volume if the base is flat. If its base is in shape of hemispherical curve
then compare the two volumes. Which capacitor be used by shopkeeper
genuinely and which value be shown by the shopkeeper.

7. Find the mean, median and mode of the data

Find the probability of occurrence of each of these events.

Section E
OPEN TEXT

Please ensure that open text of the given theme is supplied with this question
paper: T
Theme: Energy consumption and electricity bill.

29. Form a linear equation if the total bill of a house in Delhi is less than F 3000
a month assuming that the consumption is of x units as per Delhi tariff slabs

shown in the actual bill.
30. Form a linear equation to calculate bill for consumption of electricity between

200 units and 400 units for the metro cities given in the last table.
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31. In Harini’s house a geyser and a refrigegator is used. She observed that total
constimption for light and other electrical appliances excluding geyser and
refrigerator is 200 units in a month. She wishes that her monthly consumption
of electricity should be 350 units in @ month, establish a linear equation for
the same that she is using geyser for ‘p’ hours and refrigerator for ‘g” hours.

ER R
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General Instructions:

1) The question paper has two sections (Section A and B) with 30 questions
in all. All question compulsory.

) Marks are indicated against each question.

3) Question from each serial number 1 to 8 are very short type question and
answer. Each carries one mark.

4) Questions from serial number 9 to 20 are 3 marks question. Answer of
these words should not exceed 80 words.

5) Question from serial number 21 to 26 are 5 marks. Answer of this
question should not exceed more 120 words. _

6) Question number 27 and 28 are map questions of 3 marks each, from
History and Geography respectively. After completion, attach the maps
inside your answer book.

7) Question number 29 and 30 are from open fext themes and each
question is of 5 marks.

1} Define “Blandongdiensten” system. (1)
- Or
Identify any two pastoral communities of Africa.
Or
What did the name captain Swing symbolise?
2) Which medicinal plant is used to cure asthma and ulcers? (1)
3) What was the need of the reserved constituencies in India. (1)
4) Explain the term Public Interest Litigation. (1)
5) What are rights? (1)
6) Why does poverty line vary with time and place? ; (1)
7) What is Minimum Support Price? (N
8) What was the biggest achievement of green revolution? (D
9) Identify the causes of deforestation in India. (3)
Or
Discuss the various restrictions imposed on the pastoral groups in Africa.
Or

[xplain the factors that led to Enclosure Movement in England

10) Cricket’s most important tools are made of natural, pre-industrial

material. Infer. _ (3)
Or
Evaluate the reaction of Indians about the western style of clothing in 19"
century.
I 1Y Explain the “laws of cricket” 1744 3
Or

Explain the changes in the clothing after the french revolution which
expressed the idea of equality. . )
| 2)Trace the process of population change. ; (3)
13)Explain in brief about the Tropical Deciduous forest.



14)Describe the main features of the retreating monsoon season n India.
' (3)

1 5)Parliament exercise political authority on behalf of the people. Infer.

3)
'16)Examine the causes for conflicts in Kosovo. (3)
17)Explain the demerits of the electoral competition. (3)
18)Give the main features of NREGA in alleviating poverty. (3)
19)Summarize the problems of the functioning of ratio shops. (3)
20)Interpret the dimensions of food security.
21)Describe any three features of scientific forestry in India. How di
forest act affect the life of the people.
Or

|dentify the similarities in the lifestyle of Gujjar-Bakarwals of Jammu
and Kashmir and Gaddi shepherds of Himachal Pradesh. Explain any three
reasons why British introduced “waste land rules”.
; (2£3=5)
Or
What were the advantages and disadvantages of mechanical harvesting

machine in USA. (5)

22} (a)Why did Mahatma Gandhi condemn the pentangularTournament?
(b) Distinguish between amateurs and professionals. (2+3=5)
Or

(a) Why was Khadi important to Mahatma Gandhi?

(b) Explain the response of various sections of India to Mahatma

Gandhi’s dream of clothing the nation in Khadi. (2433)
23) Explain 5 major controls of the climate of any place. (5)
(3)
24) India has a rich heritage of flora and fauna. Elaborate. (5)
25) Identify the conditions that make the elections democratic. (3)

26) The Right to Constitutional Remedies is “the heart and soul of our
constitution”. Explain. (5)

27(a) Two items A and B are shown in the given political map of India. Identify
ihe items with the help of the following information and write the correct

names.

a) The state to which Gaddi shepherds belong
b) Area of Gujjarbhoty as tribal group.

On the same political map locate the following;:
¢) State where the dhanger herders live.

27(b) Two items A and B are shown in the given political map of India. Identify
the items with the help of the following information and write the correct
names. ' {(1x3=3)

a) State related to Alluri Sitaram Raju.
b) Place where the forest community Baigas lived.

On the same political map locate the following;

¢} Where the imperial forest institute was established.
2



27(e)
a)
b)

)
28)’

Two items A and B are shown in the given political map of India. I[dentify

(he items with the help of the following information and write the correct

names. {lx3—1)

A state where British government gained monopoly of trade in opium.

Cultivators were forced to grow opium '

On the same political map locate the following:

An area not under British controt where opium was being produced.

“wo items A and B are shown in the given political map of India. Identify the
d write the correct names.

J
Ip of the following information an
fixi=3)

items with the he
) A meteorological station b) Wildlife wanctuary

On the same political map locate:

') State with a population of 0.5 million.

Section B:
29 Trace the birth of AMUL. (5)
301 I low did the milk revolution help the small and marginal farmers. (5)

3



